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o U I3d fadhue 93 &= fd fer yrs UsT fes sU e 8 U5 75 |

* YEEU3JI < QU Ha I8 I3 93 6. & YIfemiaet §39 yRAf3ar & vy Us 3 7g3 f8ue |

o fIquTIId 9y B< 1 fer Yrs U39 199 27 A5 75 |

o faQur a9a §39 fove ug a9s 3 ufust e e (Hifows &89) A9 80 |

o foH YHE Y33 UFs & BET1S fie = A i3 fapd™ I | yAs U3T A=Y 10.15 1 23 7 |
10.15 =4 2 10.30 = 3 YIftp 9t 328 YA U3 § UFsd w13 fer AH &9 89 €33 yrfsar
39 et €39 &t foyaar |

e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

IHA fefars
(drft G=gT)
POLITICAL SCIENCE

(Punjabi Version)

FHTHIM : 3 WS YIE Ha 100
Time allowed : 3 hours Maximum Marks : 100

(i) HIYHE AT IS |

(ii)  YHE AT 1-5 37 I 187 YHE Ba »a €7 J | IF B YAS &7 §37 20 HIE" 3 €93 37
ISTTIETT |
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(iii) YHE AT 6-10 37 IT 18 YHS & W &7 J | IT B YHS 7 B39 40 Fae' 3 &7 397

ISTTIETT |

(iv) YHE HIHT11-16 35 T 187 YHS T Ha €7 | IT B yF3 €7 §37 100 7" 3 I
sIISTTHAETT 1

(v)  YEE AT 17-21 35 JT [8F YHE YA #a €7 J | I7 B yF3 € 837 150 7’ 3 &7
sIISTTHAETT 1

(i) YHE BT 21 HBII3T H1a3 YEE T | B37 #YST B39 YAz g 158 |
(vii) YHE HIGHT22-27 37 T o YHE & #a &7 J | g7 I Ia e YHS € §37 150 Hge™ 3
9T 3 IS TI T |

1. 1960 T =77 feg, vivdtar »3 Afen3s A T T3fin™s faadt € femm mSfant Gus ey

JEHES ? 2x %=1
2. fefsomfee Ae 3 <3t Iow 7’ fam & faa famrr J 2 1
3. Yyl Uudtfes susdtagiE Tt nigw I 2 1

4, HAICTI B I UK dhofT IfTHT Id& IIST W feg gaean v fusny fae JfemT 2 1

5. <l HH, IO Ut § ‘e A3def mHHE Jre8us’ fag faar faprr 2 1
6.  Ns BT T »dE AUHS 99 | 2
7. FIIWMIYTIASS T TIHAS 1965 fo9 Ad1 I € HY I35 3 THST UG | 2
8.  UITH! %3 HISTH! € SIS W33 AUHS &9 | 2

9. WIS It HitmmEST & 97T U3dt IHHEH (FWIH) $uSHAds S Jel € Beage fa |1 2
2211 2 cn



10. feaHHis o § que Yeds St et 3 Has fa€ aftmr famr #t 2 2

11. 7293 83 &9 <1 13 3 fug I7et3a G3anifaas St gt St ugs=ag | 4

12. ‘YT § 59N << faF fagr Arer J 2 ot & Y@t § ¥3H I3 & IdiEr J 7
iR G99 T Wy fieg gadhr wEist faf | 4

13.  »e 3793 € Ufa® 36 My g &9, IO < Yg3T 3 Bt gHeT Jad &' fTHsHe
9 | 4

14, 1995 fe9 793 & YIH'E IMMTIT § W' & ST gl “UTHTE »YA™T HUt & wifHe HH st
e Bet I3 faG s 13 2 4

15. 1975 feg IHcd »U3ds & WHST J9< AH AT 28 fo3 98 96" St U33H dd | 4

16. JEETS Gl & ST 237 THSISH T8 & S9H™s 839 < Aignst © faw 979 wiem
= faGar e | 4

17.  J& 3T & fomrs 578 5 »13 fer I e yrat © €39 fe -

feam € figs € A2-Ug'e W38 G, 9793 & B fad fan § &t nuarfen | &7 37
yrtet H3s feg fedm g nuasfon™ ..., 3 & Ft AT H8S § niustenT |
Wwﬁm%wwwas@r@vmmw@@emmwa
g a9 f&37 famrm | foi I9% 393 <t »igy feemg § i3 »igg feene fagr 77T I |
faar (¥ o), =umg, w@meﬁaaws%mewﬁgww |
I B »yE Jat o Irft Getar § fonr w3 GRS »UHEs BT yEs 9T I THE UG §
fom g 137 w3 faant € ¥33 feg a3 I ous viema it g |

YA :

() feam e dHfie<t vss St uds RS a3 |

(i) feam T mHAe<t H3s I HY fermsT 3 mat U |

(iii) 33 I »U=Te IE THY 8 H'3S © far f3s fagntt &t fonrfimm 39 | 1+1+3=5
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18.  J& 89 U3 & fors o7 U i3 I3 88 yre' & §39 fsd 5

PRTIATS W3 BHT 578 B HH § »HT AfeUTad Hae © U feg & 24 Hawe J7, fafd
............... wfgag U39 § & o fefan Ifenr FAfeursd HugH »Rm3as © ys feg H |
oA U feg TraI3d Hae = & S HY | dred (H3Uwdt) Urdet © 9% Yas ggH3 i | feg
<t ford! SS9y & B339 § 3U J96 T SHST 99 o™ | I931 Aieus € g8 o’
o ferem H {3 H'9 I7a13a €8 87 333t nigs’ Sty a9adr | 957§ foa &t fene H
fa nurzars &t T53 fog @ Agdd vyt niATT9s ST & 293 786 3 FTHG € Wd
feg gfg 3 Ftagaft |

YHS :
(i) Wfeus AWTH AIST < faas € »iar € Tafimrs |t 2
(i) 1975 € »U3aS & WHST d9& < o€t & 796 AURS 94 |

(ili) »I3TH < <97 JET far & f=d 3 Jmat Ui |

19. J& 1S3 U7 & s 378 Uz w3 fer 5 8 yms' © €33 84 :

733 ot gre faguyzT <t 31t &7 37 sara=zHa Ht w3 &7 It GeHissT (femfafanzT) <t
HT 1 3793 &=t #d1 € AH Shoff TmHi™ § 391 996 © Set »isdarred! HHfe feg IraH
T 5% oSBT @ WY feg /it | I3 8 < A% WA JefEauy3T St »iddT i3 ITHedT
8v7 »edH adl fAds™ 9793 T Wins fJ3T &% Ws &t ¥ier | 7Y 37 feg I fq Jre faguysT
AdTE S It 397 9793 =7 I3 Yfan™ J | g1 UH 9793 &1 J1e faquuzT &t &1t < widgsr &
It nfgrgt 3 AT At I |

YHS :

() &t Har 2 9w fedtfnt T T3fins far »dt aaHam @ Gurgds e fag 393 %
fSI® 9o 18 996 ST W3 13T J< |

(i) T foguuzr s faaa © 3ot a5 ot fJ3F S ufan I 2
(iii) 93 €t e fogizT St &3 T fegumBes S fan S Uogn 3Tt UG | 1+2+2=5
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20. I3 a3 I9ga & s & niftids 93 w13 fer I fe3 yrs © €33 184 -

ARES,

Wwww caglecanoons com

(8) wH3dudt IF3<T Hied far Sm e yFa J 2
(o) Cntzat Qued Ay on T feu It s et vz I |

(2) femdarags 3 faog femm Aew fis 3am J 2 1+2+2=5

&2 1 IS o3 yHs 928 fandt feastar yftmiraeinr < et yme Afgn 20 © 87 9982 YHS
J& e

20.1 <ug <t ufggw fay |

20.2 Hfed wadt <t Sug W3 Afggga Sud feg »izg rure 49 |

20.3 »dTdt Sug S faH & @9 § AUES 39 | 1+2+2=5
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g3 IT 9793 © THAISI YT H'& 93 feg g o+ A B C D S E I =gaTe

Ie 75 | feg’ AT I @7 fsaHTe 19563ﬁlgz|f8>rrrFﬂ |az1”€3ﬁaT8°rwz—o<ﬂa‘TEﬁﬂzrrf83T
feat g & UETe i3 Bt € At arH, =9t aret et & g Hitn »3 HEU3 WRig §, I8
fadt aret Araet € gufem »iut €39 yrsa feg 184 :

<33 fea fon<t ardt Areardt <t i Hitpr HEU3 iyg IHTEH

(1)
(ii)
(ii1)
(iv)
)

2211

(i) TeTTHAS 1966 feg gfom HY |
(i) femaH & As 1987 feg grfon fapm |
(iii) Teg I+ 1960 feg g=rfom faprT H |
(iv) fegaH A 2000 fe9 Je feg nrrfemr |
(v) TegId A 1972 feg grfen fopr |
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22.

23.

24.

25.

2211

&2 : I& Ty yms fHae fanet feastar ifumradhnr © 3¢t yms it 21 € 8 998< YAs
J& e

21.1 TH YSIIANSE M Wiee e UTH IfemT ?

21.2 1956 <9 I Y&IqNSE MadT 31 fa3& I »i3 {938 J=d ol You § g
faparr 2

21.3 » T AH, 39319 935 I w13 {936 dud Mitdts yeH I8 2 1+2+2
1989 3 fifg, I9t IS fag nrehut fan 979 3Tt o fer@re 49 | 4 x 1%
Eu

1985 feg I8, THI=-&d=8 AHSS S fan 979 Ba3T <t yay J9 | ¥y feg 77t 99

II& & Bt feg AHS3T o 39 Hes Ifen Ht 2 Aure a9 | 4+2

“Hfews Hy T Ze fifg Ave<t ©F fod gH € ™S 9793 © HYU 78 3 HAY3 3J 76 17 Jet

35 Gugas € I s T YRSt 99 | 3x2
7

& ni3IgHedt »i9Ea feemar (s et €1.6.) €t a9 T AeH fa= Ifenm 2 gg3 we

feaH3 OF § efeer yduTe & Bt wides (9.6, HL.21.2.31.) It faus 979 Hug yAz=s3

A3 are 2 2+4

A& niess @ fan 35 B8t w3 fds gdhnt = faGa fal | 3+3
Y

I8 & & fegu »iH feg 1979 3 1985 39 I8 nivsat <t fan 979 fenma=t T faGar

e | 4x1%

1997 3 fifg Aga3 ITHeg € HeaT € It maftmm Yime < mamet 97 nimeret Heg a8 ©

B YAIEI faH 8 HUEsT § IUHS 99 | 6x1
Co

HIft 77 JI9 Ifedt (iyduaT3) TasTet & widts HeusT & Hafgnr & fenrfinr

9 | 3+3
7

=5

=6

=6

=6

=6

=6

=6

=6

=6
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26.

27.

2211

T2 HEUt fan 135 HAfen Qug 3793 © Wy <t mftfn (ferdme) 99 | 3x2=6
q

ferdtags @ T3 sStfan <t mftfamr 39 | 6

15 & 3t 55 ST T w9y feemeT goe © Bt s < Saafmy It 9o 9 fan 979
JaHT 2T fagaT el | 4x1%=6

G

333 M3 YA © T9fi™s far 979 HiewT = faGar feG | 6
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SET -1

Series : SGN/C HS .
Code No. 59/ 1
[T A, et e B SRR & TE-TS
Roll No. T 39y o |

Candidates must write the Code on
the title page of the answer-book.

° FUNSER A fhTIA-THAGGATS 122 |

®  TY-UH H lied BT <hl SR fEU TTT g Fre hl BT ITR-YI&ThI o TE-T%S W fod |

®  HUA A B A foh 3 THA-THAH 27 WA B |

®  HUAT T 1 IT (TG TE i | Tge, T I FHATH I (7G|

® U WI-UA o UeH o T 15 fire o1 g fezm wn B | yeA-ua ot faawen gate # 10.15
ol ToRam SIT@ | 10.15 S & 10.30 S1 79 BT shael T9-UF I T 3TN 36 a1
A o I -Yf&TehT T IS IR & ford |

e Please check that this question paper contains 12 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

POLITICAL SCIENCE
fFeiia a7 - 3 gv2 3T1eBaT 37% - 100
Time allowed : 3 hours Maximum Marks : 100
59/1 1 cn



= e -

Gt 397 3T & |

(i) YoT-GEIT 1-5 T Jed% J97 T 31 BT & | 57 F941 BT Jed% I 20 155 G 3718

(ii

787 &I =TT /|
i) YIH-TEIT6-10 7% Jd% J97 G 37 BT & | 37 Fo41 BT Ie9% I 40 Irsg] G 37165
787 &1 3T |

(iv) F57-G&T 11-16 T Je 9% J97 TR 37H] BT 8 | 57 F¥71 &7 I&d% I 100 Tzl G

3ifers 7] g1 Fe? |

v) FHH-TET17 821 7% J9% F97 G 3761 F1 8 | 57 971 1 9% IR 150 vI5] G

37fere 737 g7 F01eT |

(vi) FHT-TEIT 21 FHITA T ITERGT J97 & | G571 IT 37971 I -GI&ieshr 4 71y |
(vii) FHT-TET22 T 27 T Jed% J97 F: 3H] HT & | 37 I5] HT I4% I 150 Vgl &

3ifers 7] g1 Fe |

General Instructions :

59/1

(i)
(it)

(iii)

(iv)

v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.

2 C1



1. 1960 % €k |, 3TiehT 37 Aferd T | A Tt g wewyul dfeRl 7 g&deR g 7 2 x Y =1

In the decade of 1960s, which two significant agreements were signed by the US and
the USSR ?

2. sfaem & ged 9 TS O’ hE a1 T ? 1

What was called ‘the largest garage sale’ in history ?

3. gud od ° gud 6 Wi o o st g 2 1

What does hide strategy imply within the hegemonic system ?

4. OIER IeANYTE U o TATE! & WA T H are] ol foer ohdl g31 7 1
How were the princely states integrated into Indian Union with the efforts of Sardar
Vallabhbhai Patel ?

5. TS o U, hIUH U bl Teh AU HHTSTh TSSe w1 hal T ? 1

By the time of Independence, why was the Congress Party called a ‘rainbow-like’

social coalition ?

6.  ‘Imiyame defl’ w1 31 Ty K | 2

Explain the meaning of the ‘ASEAN way’.

7. WRA 3R IR o & 1965 H TG B < T HRUT S I9MR HIT | 2
Highlight the main reason behind Indo-Pakistan War of 1965.

59/1 3 C1



8. IyarH) 3 yrumeff o i 37w Ty hifvu | 1+1=2

Differentiate between a migrant and a refugee.

9.  IMYAM R AEIRAT o HIEHH § ST TEN! ohl THTH i o his ol 3@ fAiEy | 2 x 1 =2

Write any two examples of ending regional conflicts through mediation by the

ASEAN.

10.  Toepresfict guii sl FTel WICHhiet shi STEAATSTT | Tk w1 T 70T &7 7 2
Why were developing countries exempted from the requirements of the Kyoto
Protocol ?

11, SETel A6 4% <hl Tog o §1G USHIToeh ITUTIhR h! AT hl TH&I0T HITT | 4

Examine the challenge of political succession after the death of Jawahar Lal Nehru.

12. el wifth o1 ToRTcHes dic 1 hEl ST & 7 1 Siel JUITed] shl THTH o ST =T A1
& ? 37T I b &1 H U b ST | 2+2=4

Why is Veto power called a negative vote ? Should the Veto system be abolished or
not ? Support your answer with suitable argument.

13. TG YR  9gcl diF 3T ATl |, SHREE o T o 70 ITERA R 1 foageryor
HITT | 4

Analyse the factors responsible for the Congress dominance in the first three general
elections in free India.

59/1 4 C1



14. 1995 W 9RA = THT[-3THER G (T.9.3.) 1 AfTaa wa & e sgm @1 oty
w1 fepam ? 4

Why did India oppose the indefinite extension of the Non-Proliferation Treaty (NPT)
in 1995 ?

15. 1975 5 THT 3TUTAehIcT bl SO i o BLehT I feU 7T homt o1 forgermor Hifs | 4

Analyse the reasons given by the Government for declaring a National Emergency in
1975.

16. T3S I o S IAThat TsiTaeh gatl o s U Hghfd o fohral IR el o1 avi
HIT | 4

Describe any four issues on which a broad consensus has emerged among most
political parties of India during the coalition era.

17.  “foepra & S QF TH-TH Higd o, WG 3 3949 & Foreft 61 Tl 1o | gSfandt Atget §
TorenTd 61 ™ BIAT 8 | WRA 3 T8 TEAT T&1 SR | WA o TrehTe o1 TrTsrene! qiset it
TE IO | 39 1 &1 AT Shi e Teh STdi ohl of foram TR 37 3194 < § 38 Tt -t
Y H o1 foram TR | 32 RO R Sreieraen s Tafia - sreferaren’ e S 7 |
We-TorgTl, SR 3 3TN T Teh ST W STt &1 o 212 | &M | T o 39 g1 |
I I I T@T 3T 3T MU Sr<1 JGH fohall | TsF = SR 1 Fm fomam 3k
FN < & § $© 9¢ s Ry |”

FHR feu T SraaEr i ermyds ufen aun frefeRad st o I i
(i) Toepra o ISfaTe) Hige i 9o w1 w78 HIfT |
(i) TorehrE & TUTSETC) A 6t g foaeiwar i AR T |
(i) WRd g A T faeA-Fot wiee 6l Aretreqt & feheal v feigai sl =
i | 1+1+3=5

Study the following passage carefully and answer the questions that follow :

“India did not follow any of the two known paths to development — it did not
accept the capitalist model of development, nor did it follow the socialist model.
Elements from both these models were taken and mixed together in India. That is
why it was described as ‘mixed economy’. Much of the agriculture, trade and
industry were left in private hands. The state controlled key heavy industries,
provided industrial infrastructure, regulated trade and made some crucial
interventions in agriculture.”

(1)  Explain the concept of the capitalist model of development.
(i) Highlight the main feature of the socialist model.

(i11)) Explain any three points of criticism against the mixed model adopted by India.
59/1 5 cn



18. “3ATITAhRTS 3TN 3Hb ITHUTY hi (Y i BH AT Fehe i 3@ & &9 4 ff T@
Tehdl & FAIToh SRR & 1 et TS AT HaY STATTRIA o Jo | o7 | Gl T/
g TSHITh Hehe T HY SR o1 | It arét < e qu sigwa o1 | fe off, 38k g =
AThds 1 3 HT BT HHAT b | WRAT Tiae™ & fiarsn i favam on 6 ot
TSHIeh €1 SAThdIeh Hehl ol ITe il | 3= I8 o favama o o6 smuraesre <
feurfa o oft IR 31ot SremaRer wifr b1 sEauTe fafer & Smee % gRR H Ed g
Haft |7

FHR Teu T ST T S ST Hifore qeun i fou T et % I fofa

(i) AT T, ThR & foh g1 3T H i o 7

(i) 1975 T SATITIHTA SN HL S IS G HRUT T HITT |

(iii) SATATRTET o ST §8 Tehedll I SOTGTRI ShT ISR SHIFAT | 5

Study the passage given below carefully and answer the questions that follow :

“The Emergency and the period around it can be described as a period of
constitutional crisis because it had its origins in the constitutional battle. On the other
hand, it was also a period of political crisis. The party in power had absolute majority
and yet, its leadership decided to suspend the democratic process. The makers of
India’s Constitution trusted that all political parties would basically abide by the
democratic norm. Even during the Emergency, when the government would use
extraordinary powers, its use would be within the norms of the rule of law.”

(i) The constitutional battle was drawn between which two organs of the
government ?

(i1)) Explain any two reasons that led to the imposition of emergency in 1975.

(i11)) Highlight any two excesses that took place during emergency.

19. = feu U Sraden s erHgdes STeRE HifT 3T 3| W senia Jet o I forfaw

“uqrd <ht T~ frerar i ifd 7 @ Teprreres oft 3 7 & ik i | ura haggeeta
gfegfear <t STehg 1 Siefl B & T SFAAUF Amel T Tiha T W S8 i & 9 1
o1 | B el % 7a H, - Fdemar w18 var siaigia sgr sned T8 S Wi % aredfeeh
Tl & Tt T @t | = Al ¥R @ T e -fter gfysnio 3 w5 @l & wid o fa wen @ |
SEL 3R, WA hl Te—TTerm <t Aifet 6l et ff 3 MR WA W 1" 1+2+2=5

(i) gt sfekdl & o= fedh e W god %1 seewm g st e 3
HETEAAT SHlch I i TTel bl IN7d FRT 2T |

(ii) Te-Treran 3 for &1 alient & vRer faat bt Tnen § 2

(iii) R T Te-Teran st fifd & foeg ST o Rl g1 feigaTl H1 IR HIT |
59/1 6 cn




Read the following passage carefully and answer the questions that follow :

“India’s policy of non-alignment was neither negative nor passive. India was in
favour of actively intervening in world affairs to soften Cold War rivalries. Non-
alignment was not, as some suggest, a noble international cause, which had little to
do with India’s real interests. In fact, a non-aligned posture served India’s interests in
many ways. On the other hand, India’s policy of non-alignment was criticized also on
a number of counts.”

(1) Give any one example of a conflict between the Cold War rivals where India
mediated to soften the warring factions.

(i) In which two ways did Non-alignment serve India’s interest ?

(i) Highlight any two points of criticism against the India’s policy of non-
alignment.

20.

ARES,

Wwww Caglecartoons com

wﬁqu@wm@awﬁﬁqwﬁmﬁﬁgﬁw%w%ﬁ@m 1+2+2=5
(%) wrag afers &fes fore <1 w1 Ifafae s g ¢

(@) 3Teh! 9df W fafir <omi < ford guAmi wr R AEE § 7
(1) 39 hIeA T HIF A1 HEwqUl Hev Tt w1 8 7

59/1 7 C1



Study the cartoon given below carefully and answer the questions that follow :

(a) The mighty soldier with a weapon represents which country ?

(b) What is the significance of the names of various countries written on his
uniform ?

(c) What important message does the cartoon convey ?

e : Tmfafaa woa e gidanfea et o foTe o @ 20 F WA R

20.1 ‘=R’ <t gieamT ke |

20.2 &= SEET TUT Ao doedl H 3T T8 HIT |

20.3 3THLeh! SEa <h foheal g1 amenai sl T8 HifT | 1+2+2=5

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 20 :

20.1 Define ‘hegemony’.

20.2 Differentiate between the hegemony of hard power and hegemony of soft
power.

20.3 Explain any two constraints on the American hegemony.

59/1 8 C1



21.

59/1

Y ~ .

feu T vra & Tefae War-amtaE 8 i a9 A), B), (©), (D) a2 (E) gr et /&
2 1 37 meft T o Tomior 1956 % qweTd 831 | 9 € 1 AehRT <l wEat 3, 3 Ui
! TESTHT qAT 37 H&T 19, TINT bl T8 STHehR] hl sh TEAT AT Teferd &R i, {0
@ 7TE ATfoteht o €9 H 379 IR gfecent ¥ foiRaw :

TR Sl TS BRI e 31§} TSI 1 AW
=1 oh| TE&
(i)

(ii)

(iif)

(iv)

)

() TETSTIY 1966 | & |

(i) 39 UST I a¥ 1987 H ST TR |
(iii) IE TST 9 1960 H ST 74T |
(iv) I8 T=F a9 2000 H 31t & 31T |
(v) 3ETSTHI Y 1972 H SHET1TR |

C1
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In the given outline political map of India, five states have been marked as @, ,

@, @ and @ All these states were created after 1956. Identify them with the help

of the information given below and write their correct names in your answer book
along with the serial number of the information used and the concerned alphabet
shown in the map as per the following table :

Sr. No. of the Alphabet concerned Name of the State
information used

(1)
(ii)
(iii)
(iv)
)
(1)  The state came into existence in the year 1966.
(1i1)) The state was created in the year 1987.

(ii1)) The state was created in the year 1960.

(iv) The state came into being in the year 2000.

(v) The state was created in the year 1972.

10
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e : Ffeiad o o giaTia wiemfeRTt @ forg T @ 21 6 WH W E
21.1 TST QT SRR SAfufem e aTid g3t ?
212 1956 H TST YIS 3TN gRT fohae Tt e fepaat ohg Smfdra wewmt o1 T+ fepan

T 7
21.3 SaH™ H, WRA § fera Ts" a2 ferde shg e wewr 8 ¢ 1+2+2=5

Note : The following questions are for the Visually Impaired Candidates only in
lieu of Q. No. 21.

21.1 When was the States Reorganisation Act passed ?

21.2 How many States and the Union Territories were created by the States
Reorganisation Commission in 1956 ?

21.3 How many States and the Union Territories are there in India at present ?

22. 1989 % U¥ETd, YR TSHITd § HTT fohegl 9TR J&T SeeTdl o faveiuu il | 4 x 1% =6

YAl
1985 ¥ gU, Tsfia Mief-aAiiarel aWeiid o G Tadi ol wieor e | ore § wfd
FETeAt o foTu g Tueiidar el de ahd 53T ? T8 HITT | 4+2=6
Analyse any four major developments in Indian politics after 1989.

OR

Examine the main provisions of the Rajiv Gandhi-Longowal Accord of 1985. How
far was the Accord successful in bringing back normalcy in Punjab ? Explain.

23, “Hifodd €9 % e o qvETd, AMIATE 3l °H § €9 o H1Y, WA o 99 qa8 Holegqa
R 8 |” IS fiF ITTET0T <o H <l gfY Hifre | 3x2=6

CLE]

9 AR IT(h aTT (TH.3778.3. 371, ) <hl GRUM T I=7 hdl g3 ? 1972 H 374
fopfra <ol =1 @ UgEH % TN, Sfhee (AT EL) g ®F § IR gUR
SEdTfad fopu g ?

“Among the post-Communist countries after the disintegration of the Soviet Union,

India’s relations with Russia have been the strongest.” Support the statement with any
three examples.

OR

How did the idea of a New International Economic Order (N.LE.O) originate ? In
1972, which four reforms were proposed by UNCTAD to benefit the Least
Developed Countries’ (LDCs).
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24. I TG o fehedl oiF @ qe i gif bt et hife | 3+3=6
3T
STl A o foeg 3Em | 1979 W 1985 T U 3T=gIe hi feheal =R farrwarati w1 aui
HIfT |

Describe any three advantages and three disadvantages of popular movements.

OR
Describe any four features of movement in Assam against outsiders from 1979 to
1985.

25. 1997 o dT¢ G UY o AW gRI YL UREE ol TARM ST IARN Te o o T
EaTtad fehgl ©: Teuel ol T8 HIfTT | 3+3=6
e
T <l STIRITEh TRON % Sl HIadT shi GaT qer Afvass guer i Sxmen ik |

Explain any six points of new criteria for becoming a permanent or Non-permanent
member of Securing Council as proposed by members of UN since 1997.

OR
Explain non-traditional notions of human security and the global security.

26. wTEtor Hef} TR i HE] T W o U&7 o forweyur hifg | 3x2=6
YT
JeeIehtuT o TrSHIfereh TioTET <61 fergersor Hif | 6
Analyse India’s stand on any three environmental issues.
OR

Analyse political consequences of globalization.

27. < o s Tl & gfg S areht steiereen sHM % T =i\ % Aqcd g 3eTe T feRed
IR HeH! ol FUH HIfT | 6
37T
IR 3R urferear = s ferame o fepeal = e ot @i i |

Describe any four steps taken by Chinese leadership to make it a fastest growing
economy.
OR

Describe any four issues of conflict between India and Pakistan.
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